RIFEH
S 5 e g

EEYRR .. FREEEENLSH
EH 23330.

EmiEiR

HREMEERFNEHIIRNZ MRENIE | HERLBRANEZHNAR,
EBENERETARESENTIR  BANEA , B 78 wE , AENRE , BT ARKAH
MEBRUTENBS | #7 , NENBEIKRE,

FHESAREN NEREAFREAMREITH. MRKRERRE , THUSZEBHOEE.
ﬁ%$%ﬁﬁ@ﬁ¥b§$%k%ﬁﬁc%E%ﬁﬁ%,?ﬁﬁ%ﬁi,EHMIﬁ#ﬁEEW
HEAREHEEENIERK , RETARNEEER.

MENAEABIRSENEAS) TR, MUBEREN, RERK , ZRAEA,

BRIE 7] FRRY SR RIRET B R I ER IR

ME BLEA
"8 g%
- 88, $EEE #iML
EARGNERRSIRG  ERAREELER
meT fit,
. ReAH
BF
- BB
- S, B, EE
KEEE
- BB, R2e
BRBE
- PVC, B8
&
N 23330.065
‘: 23330.0614
233300613 { ; Q)
m e / (-]
= [ ] .tl‘" e 0
@ " ;)
g Afal L 9
o |
=
bj d4 ] d4 [l d4
Le lg lg
ls
i3 Ly by
le s e
o _
o
BEE 12

EEHALDER FIE7E: 12.10.2023



RIFEH

i &5 5 i
HES -6/
N | KSR R~ REFEH | a & i
R
dy | by by|bs hy [hy|hg| hy N hs hs | |y bl s lgils ls Iz 1g lg | Fy| Fy min max;
min | max.
[mm] [mm] [kN] [°Cl |[q]
Ei]
3 M6x35 |55 /38| 6|5(154|38|12|11,5|/19,5| 285-32 |30| 78| 89| 52 /1125 6,0 20 32 125 /1,0(1,2 | 95°-10 |80 |237/23330.0613
4 M8x45 |7,5/48| 8|6|200|48|18|10,0|18,5 41,0 - |111(114| 79,1937 75/20/40, - | 1,4|25105° -10 |80 (484 23330.0614
5 M8 x65 | 8,6 53 10|8|244|65|20|16,5|45,5 55,5 - |141/130|101 16 54 13,0 3253 - |2,0(3,0 105° -10|80|776/23330.0615
Bt
d, i AR AR
[mm] (6]
FRERIRFT (A EIRA R )
M6 x 35 16 23330.9003
M8 x 45 38 23330.9005
M8 x 65 57 23330.9006

LS

FHFENERER  FEEMENER.

HE2m2

EEHALDER FIE7E: 12.10.2023


http://halder.com/tw/23330.0613
http://halder.com/tw/23330.0614
http://halder.com/tw/23330.0615
http://halder.com/tw/23330.9003
http://halder.com/tw/23330.9005
http://halder.com/tw/23330.9006

